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AVERAGE & AGES ASSIGNMENT 

 
1. The average height 20 students in a class was calculated as 160 cm. On 

verification it was found that one reading was wrongly recorded as 132cm 
instead of 152 cm. Find the correct mean height.  
xU tFg;gpy; cs;s 20 khzth;fspd; ruhrhp cauk; 160 nr.kP vdf; 
fzf;fplg;gl;lJ. rhpghh;f;Fk; NghJ 152 nr.kP vd;gij 132 nr.kP vd 
jtwhf vLj;Jf; nfhs;sg;gl;ljhfj; njhpa te;jJ. rhpahd ruhrhp cauk; 
fhzTk;. 
a. 160.5cm  b. 161cm  c. 162cm  d. 159 cm 
 

2. The mean of the 5 number is 32. If one of the numbers is excluded, then 
the mean is reduced by 4. Find the excluded number.  
5 vz;fspd; ruhrhp 32. mt;ntz;fspy; xd;iw ePf;Fk; NghJ> ruhrhpapy; 4 
Fiwe;jhy; ePf;fg;gl;l vz;iz fhzTk;.  
a. 46   b. 50   c. 52  d. 48 
 

3. The average of five consecutive odd numbers is 95. What is the fourth 
number in the descending order? 
njhlh;r;rpahf Ie;J xw;iwg;gil vz;fspd; ruhrhp 95. ,wq;F thpirapy; 
ehd;fhk; vz; vd;d?  
a. 91   b. 95   c. 97  d. None of these   
 

4. The average height of 10 students in a class was calculated as 166 cm. On 
verification it was found that one reading was wrongly recorded as 160 
cm instead of 150 cm. Find the correct mean height.  
xU tFg;gpYs;s 10 khzth;fspd; ruhrhp cauk; 166 nr.kP vdf; 
fzf;fplg;gl;lJ. jfty;fisr; rhpghh;f;Fk;NghJ xU kjpg;G 150 nr.kP.f;F 
gjpyhf 160 nr.kP vd;W Fwpg;gplg;gl;lJ fz;Lgpbf;fg;gl;lJ vdpy; rhpahd 
ruhrhp cauj;ijf; fhz;f.  
a. 175 cm  b. 165 cm  c. 155 cm   d. 160 cm  

 
5. The total marks obtained by a student in Physics, Chemistry and 

Mathematics together is 120 more than the marks obtained by him in 
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Chemistry. What is the average marks obtained by him in Physics and 
Mathematics together?  
,aw;gpay;> Ntjpapay; kw;Wk; fzpjk; Mfpatw;wpy; xU khzth; ngw;w 
nkhj;j kjpg;ngz;fs; Ntjpapaypy; mth; ngw;w kjpg;ngz;fis tpl 120 
mjpfk;. ,aw;gpay; kw;Wk; fzpjj;jpy; mth; vLj;j kjpngz;fspd; 
ruhrhpia fhz;f.  
a. 40   b. 60   c. 120  d. Cannot be determined  

 
6. The average of five consecutive numbers A, B, C, D and E is 48. What is 

the product of A and E? 
A, B, C, D kw;Wk; E Mfpa Ie;J njhlh;r;rpahd vz;fspd; ruhrhp 48. A 
kw;Wk; E ,d; ngUf;fy; gyd; vd;d?  
a. 2400  b. 2300  c. 1300  d. 3300  
 

7. A batsman makes a score of 87 runs in the 17th inning and thus increases 
his average by 3. Find his average after 17th inning 
xU kl;ilge;jhl;lfhuh; 17tJ Ml;lj;jpy; 87 ud;fs; vLj;jhh;> ,jdhy; 
mtuJ ruhrhp 3 mjpfhpf;fpwJ vdpy; 17-tJ Ml;lj;jpw;F gpwF mtuJ 
ruhrhp vd;d?  
a. 38   b. 39   c. 37   d. 49 

 
8. The mean of 9 observations is 24. Find the sum of the 9 observations. 

9 tptuq;fspd; ruhrhp 24 vdpy;> mt;tptuq;fspd; $l;Lj;njhifiaf; 
fhz;f. 
a. 214  b. 216   c. 316   d. 116 

 

9. Find the mean of the following data. 
gpd;tUk; juTfspd; ruhrhpiaf; fhzTk; 

 5.1, 4.8, 4.3, 4.5, 5.1, 4.7, 4.5, 5.2, 5.4, 5.8, 4.3, 5.6, 5.2, 5.5 
 a. 5.1   b. 5.2   c. 5.0   d. 5.5  
 
10. If the average of m numbers is n2 and that of n numbers is m2, then the 

average of (m+n) numbers is  
m vz;fspd; ruhrhp n2 MfTk;> n vz;fspd; ruhrhp m2 MfTk; ,Ue;jhy; 
(m + n) vz;fspd; ruhrhp vd;d?  

a. m – n   b. mn   c. m + n  d. 
m

n
 

11. Six years ago, the ratio of the ages of Kunal and Sagar was 6 : 5. Four 
years hence, the ratio of their ages will be 11 : 10. What is Sagar's age at 
present ?  
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6 tUlq;fSf;F Kd;G Fzhy; kw;Wk; rhfhpd; taJ tpfpjk; 6 : 5 ehd;F 
tUlq;fSf;F gpwF mth;fspd; taJ tpfpjk; 11 : 10 vdpy; rhfhpd; 
jw;Nghija taJ vd;d?  
a. 16   b. 18  c. 20  d. cannot be determined  

 

12. Rajan got married 8 years ago. His present age is 
6

5
 times his age at the 

time of his marriage. Rajan's sister was 10 years younger to him at the 
time of his marriage. The age of Rajan's sister is :                                                                     
uh[d; 8 tUlq;fSf;F Kd;G jpUkzk; Kbj;jhh;. mtUila jw;Nghija 

tajhdJ jpUkzj;jpd; NghJ cs;s tajpd; 
6

5  
klq;fhFk;. uh[dpd; 

rNfhjhp jpUkzj;jpd; NghJ ,tiu tpl 10 taJ ,isath; vdpy; 
uh[dpd; rNfhjhpapd; taJ vd;d?  

 a. 32 years                b. 36 years    c. 38 year               d. 40 years 
 

13. Sneha's age is 1
6

th of her Father's age. Sneha's Father's age will be twice 

of vimal's age after 10 years. If vimal's Eighth birthday was celebrated two 
years before, then what is Sneha's present age?  

];Ndfhtpd; taJ mtsJ mg;ghtpd; tajpy; 1
6

 gq;F MFk;. 10 

tUlj;jpw;F gpwF tpkypd; taJ mg;ghtpd; tajpd; ,U klq;fhFk;. ,U 
tUlq;fSf;F Kd;G tpky; jdJ 8tJ gpwe;j ehis nfhz;lhbdhh;. vdpy; 
];Ndfhtpd; jw;Nghija taJ?  

a. 
2

6
3

  b. 24   c. 30   d. None of these  

 
14. Average age of Y, Z and A is 27 years. Average age of Y and Z is 28 years, 

average age of Z and A is 24.5 years and Average age of A and Y is 28.5 
years. Find the age of the oldest among them?  
Y, Z kw;Wk; A d; ruhrhp taJ 27 tUlq;fs;> Y kw;Wk; Z d; ruhrhp taJ 
28. tUlq;fs;> Z kw;Wk; A d; ruhrhp taJ 24.5 tUlq;fs;. A kw;Wk; Y 
d; ruhrhp taJ 28.5 tUlq;fs;. vdpy; ,e;j %thpy; nghpathpd; taJ 
vd;d?  
a. 25 years   b. 24 years   c. 32 years   d. 35 years  

 
15. Gokul is twice as old as Velu and half as old as Arun. If the sum of Arun's 

and Velu's ages is 85 years, what is Gokul's age in years?  
NfhFypd; taJ NtYitg; Nghy; ,uz;L klq;F kw;Wk; mUizg; Nghy; 
ghjp taJ MFk;. mUz; kw;Wk; NtYtpd; taJfspd; $Ljy; 85 
tUlq;fs; vdpy; NfhFypd; taJ vd;d?  
a. 34    b. 36  c. 68   d. cannot be determined 
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16. Ram is 5 years older than Anand and Anand is 3 years older than Kiran. If 
sum of present ages of Anand and Ram is 55 years, then find age of kiran 
7 years hence?  
uhk; vd;gth; Mde;ij tpl 5 taJ nghpath; kw;Wk; Mde;j; fpuz; - ia 
tpl 3 taJ nghpath;. Mde;j; kw;Wk; uhkpd; jw;Nghija tajpd; $Ljy; 
55 tUlq;fs; vdpy;> 7 tUlj;jpwF gpwF fpuzpd; taJ vd;d?  
a. 27   b. 32   c. 29   d. 22  
 

17. Aishwarya's present age is 33 
1

3
% of his mother's present age. 

Aishwaraya's brother present age is 11 year, and he is 34 years younger to 
his mother. What is present age of Aishwarya?  
I];th;ahtpd; jw;Nghija taJ mtuJ mk;khtpd; jw;Nghija tajpy; 

33 
1

3
% MFk;. I];th;ahtpd; rNfhjudpd; taJ 11 kw;Wk; mth; mtUila 

jhahiu tpl 34 taJ ,isath; vdpy; I];th;ahtpd; jw;Nghija taJ 
vd;d?  
a. 15   b. 12   c. 18   d. 21  

 
18. I am three times as old as my son 15 years hence, I will be twice as old as 

my son. The sum of our ages is  
vd;Dila taJ vd; kfdpd; taijg; Nghy %d;W klq;F MFk;. 15 
tUlq;fSf;F gpwF> vd;Dila taJ vd; kfdpd; taijg; Nghy 
,Uklq;F vdpy;> ,Uthpd; tajpd; $Ljy; 
a. 48 years   b. 60 years   c. 64 years   d. 72 years  
 

19. Six years ago, age of P was 75% of age of Q at that time and sum of 
present age of Q and present age of R is 56 years. If R is two years older 
than P, then find sum of present age of P and present age of R?  
6 tUlq;fSf;F Kd;G> P apd; tajhdJ> Q apd; tajpy; 75% mNj 
tUlj;jpy; Q kw;Wk; R ,th;fspd; tajpd; $Ljy; 56 tUlq;fs;. R vd;gth; 
P I tpl ,uz;L taJ nghpath; vdpy;; P kw;Wk; R d; jw;Nghija tajpd; 
$Ljy; vt;tsT?  
a. 48 years   b. 50 years   c. 42 years   d. 54 years  

 
20. Father is 5 years older than the mother and the mother's age now is thrice 

the age of her daughter. The daughter is now 10 years old. What was the 
father's age when the daughter was born? 
je;ijapd; taJ jhahhpd; taijtpl 5 taJ mjpfk;. jw;Nghija jhapd; 
taJ mtSila kfspd; taijg;Nghy %d;W klq;F MFk;. kfspd; 
jw;Nghija taJ 10 vdpy;> kfs; gpwf;Fk; NghJ je;ijapd; taJ vd;d?  
a. 20 years    b. 15 years   c. 25 years  d. 30 years 
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AVERAGE & AGES ASSIGNMENT 
Answer Key  

 

1 2 3 4 5 6 7 8 9 10 

B D D B B B B B C B 

11 12 13 14 15 16 17 18 19 20 

A C D C A C A B B C 
 

 


